Subject: Re: Petals Around the Rose - Puzzle
Posted by genetix on Mon, 22 Dec 2008 06:58:24 GMT

View Forum Message <> Reply to Message

Ya | was going to check that when | fixed the no submission problem but had to run out the door.
| had a feeling it was doing that.

Here's the old formula for anyone interested. The multiplication was making two dice 0 almost
every time. It really cut down the odds.

Quote:$final_count = count_petals($dice6) * count_petals($dice4) + count_petals($dice2) -
count_petals($dice5) + count_petals($dicel) - count_petals($dice3);

| might reserve multiplication and division for the extreme game mode. Keep the advanced
version a little simpler. The formula has been rewritten to only include + and - for this round.
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